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Additional Figures. The following figures give the comprehensive results for our simulation study.
Gene expression data are simulated based on either an independence structure (p = 0, page 3), a weak
dependence structure (p = 0.3, page 4), a relatively weak dependence structure (p = 0.5, page 5), a
relatively strong dependence structure (p = 0.7, page 6) and a strong dependence structure (p = 0.9, page
7). In each page of figures, plots for root mean squared errors (RMSE), bias and standard deviation are
presented to compare different estimation methods; plots for RMSE are also presented to compare different
A values for our method. The comparison plots for RMSE in log-scale are given in the first row of figures;
the comparison plots for bias in cube root are given in the second row of figures; and the comparison plots
for standard deviation in log-scale are given in the third row of figures. On the choice of A for our method,
the comparison plots for RMSE are given in the last row of figures. Different sample sizes are considered
in our simulation study: n; = ny = 6 (left panel), 18 (middle panel), and 30 (right panel).
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